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<HTFEKEFHERIE>
1432 B K | 238450 7L
241 BRa 236.600 843
3L HiE/KX | 230350 oL
afi ERREEK 211.000 104
5 BEEBKEE 122.300 1141
64z 124

[BgK-F—LHIZETF]

K4 FEO|PE BE | BEVL | THE | bdh =1 3
ERRIER | DI | 3 | 12900 | 12200 | 9400 11.800 | 46.300 12
A BEF | #t& | 3 | 12400| 8950 10.600 | 11.500 | 43.450 | 21
kg =1k ##% | 3 | 12400 | 13200 | 12250 | 12.800 | 50.650 2
XA FE mE& | 2 | 10350 | 12250 | 11.950 | 11.000 | 45550 | 15
kO %A #t= | 2 | 12.000 9.950 | 10.000 | 11.300 | 43250 | 22
MU % | BF | 2 | 12200| 11.800| 12350 | 12.600 @ 48.950 5
F—LBE 61.900 | 59.400 | 57.150 | 60.000 | 238.450
(BaK-EAHIZEF)

K4 FEO|PE BKE | BEVL | EHE | dh =1 3
hig BE E3 | 4| 11.800| 8800 | 9.400| 10.100 | 40.100 29
<fEBHRMAEE>

Eq= E £z K4 Ba

Bk 3fiL P RIEYD 12.900
BBV T vRiva ol =& 13.200

241 i aE 12.350

EE 3L ol =& 12.250

4fi1 xR FE 11.950
in 241 ol =& 12.800
3L ‘i aE 12.600




